TSR OB L TR A

it mmTmsRs TR OBMH: 0 TrIesf - S H B H

1 uﬂEE?DT Ce e T
a) RKEHE B ABIRIE R #5377 B 2 BB (Homogencous Solution th &Hﬁi%ﬁﬁ%ﬁﬁz
TE“Q%’:TEM!«EQ@:‘ HE R R B R VR 7 SR AR ﬁi’ﬁﬁéﬁf’ﬁlﬁzm"ﬁ% )Y (2%), i
F iR 2 5 (2) J71%: (3%)

(b) RAZLERYUARREE R D TR 2 B AR (Particular Solution) 2 75 ¥h T8 & #3(3) J7 13 (2%

(¢) XY 4 XY 4 (AX? — p2)Y =0
LARBE o AR A HBERE B (Bessel’s equation), B v S BB, HM>—REXS
(4)(2%), X B v B IEREBURY, KR 2 LA (5)(2%)

(d) XWa XY' — (A X 49 =0
AR AN S8 BER S E (Modilied Bessel’s equation), B v 2B B, BHfif 2 —
B (0)(2%), X B v 2 IFREBINY , KR T (1)(2%)

(e} SRR E LTS
(Uﬁ;:ﬁ[ﬂffﬁ%ﬁ?‘ﬁﬁiﬁfﬂfﬁ‘k(uiﬁﬂﬁjH&Iﬁﬁ -Free Body Diagram)iZ LM, (5%)

DRI RA AN M A5 2 IR 8 (Dransler function of the system] ( );ﬂﬁ;gﬁiﬁﬂﬁ

{(xenela,lized Impedance of the system)Z(s). (o%)

P R !_:_.}‘f

1lc\l

yo)=4l)=0 H :J c

$6t)

Yt) “ %\A\QE

B«

2. (25%) The velocity vector field for the two-dimentional flow of a fluid around a cylinder is given
by

i‘:(:c,y) = A {(l — -—"

where A is some positive constant,
{(a) Show that when the point (z,y) is far fromn the origin, Fos A7
(b) Is the flow irrotational?
{

<) Is the flow incompressiblc?
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3. Find the determinant
© {a) (10%) without expanding the determinant

r? oyt oz
det; @ y 2
11 1.
(b) (15%)
1+ a € ay
det flg l—i—. (25 L[F]
an- .u;l l—i tn
4 ?xﬁzﬁﬁﬂ?

(a) (15%) #f PA— T TR BIRE R R aa® + bo + ¢ = OE*JT{EH’J %i?t(ﬁ'ﬁ ﬁ'fljﬂ b, f"é“r%{f%"ﬁﬁ)\
E@fﬁ‘ﬁtfﬁ BT RE) R, B R R, DRI R AT
(b){ﬁwgou)ougii <$§Oi§5+ﬁ1+2+4+7+ ~+N (C, Fortan, Basic &), Frp N REEHABVEEHY
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